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zj ,� = z�e
i(kjhx−ω�ht).
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��� T �� � �������� ��������� ���� T�� = λ(k)�� = �̂(khx)���
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����� Ph ��� Qh ��� ��������� �� ���� ����

Ph��+� = λP(k)��+�, Qh�� = λQ(k)��.
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�� �� �� � �������� �� ��� ����� ��������� ������ �� ω = ω(khx) ��������

e−iω(κ)ht = s(κ),

����� �� ��� κ = khx � ��������� κ�

��� s(κ) = |s(κ)| e iϕ(κ) = e log|s(κ)|+iϕ(κ)� ω(κ)�
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ω(κ) =
−ϕ(κ) + i log |s(κ)|

ht
.
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zj ,� = z�e
log|s(κ)|�e
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��� λ = aht/hx � ����� �������� s(khx) = �− λ(�− e−ikhx )�
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e−iω(κ)ht = �− λ(�− e−ikhx )
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